Secondary Math 3 Name ID: 1

6.3B: Right Triangle Trigonometry Period
Find the value of the trig function indicated.
1) cos @ 2) tan 6
2 17
L 8
L]
12 15 15
3) cot @ 4) csc 6
7
7 10 ]
[]
8
24 o 25
5) sec 6 6) sin @
6 23
s 102
7 3vVs
5
7) sec 4 8) sin @
12
f 22
15 H

22
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Find the measure of each side indicated. Round to the nearest tenth.
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Find the measure of each angle indicated. Round to the nearest tenth.
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m o For the first eight exercises, find the length x. For the remaining exercises, find the length needed to solve the problem. Round
o ©  each answer to the nearest tenth. Cross out each box that contains a correct answer. When you finish, write the letters from
& o the remaining boxes in the spaces at the bottom of the page.
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